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QUESTION 1

What is the default user\\'s network range when creating a new access policy rule in Workspace ONE Access?

A. 10.0.0.0/8

B. ALL RANGES

C. 192.168.0.0/16
D. LOCAL SUBNET

Correct Answer: B

QUESTION 2

Which VMware product allows you to query an endpoint like a database?
A. VMware NSX-T Data Center

B. VMware Carbon Black Audit and Remediation

C. VMware Workspace ONE UEM

D. VMware Carbon Black Endpoint Standard

Correct Answer: C

QUESTION 3

If the Compromised Protection switch is enabled in Workspace ONE UEM, what is the expected behavior on
compromised devices in the environment?

A. A tag is assigned to the compromised devices and the admin gets notification
B. Compromised devices are automatically Enterprise Wiped

C. A block is set for all network connections except to the VMware servers

D. Devices are marked as non-compliant and the admin gets a notification

Correct Answer: D

1V0-81.20 PDF Dumps | 1V0-81.20 Practice Test | 1V0-81.20 Exam Questions

2/3


https://www.passapply.com/1v0-81-20.html
https://www.passapply.com/1v0-81-20.html
https://www.passapply.com/1v0-81-20.html

VCE & PDF https://www.passapply.com/1v0-81-20.html
2024 Latest passapply 1V0-81.20 PDF and VCE dumps Download
PassApply.com

QUESTION 4

Which would require a Layer 7 Firewall?
A. block a specific port

B. block a subnet range

C. block a host

D. block a specific application

Correct Answer: D

QUESTION 5

Which option would be considered an example of a Hardware Based Exploit?
A. SQL Injection

B. Social Engineering

C. Jail Breaking

D. Denial of Service

Correct Answer: C

Reference: https://www.kaspersky.com/resource-center/definitions/what-is-jailbreaking
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